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General Aptitude 
 

Q. No. 1 ï 5 Carry One Mark Each 
 

1. Which of the following combinations is incorrect? 

 (A) Acquiescence ï Submission 

 (B) Wheedle ï Roundabout 

 (C) Flippancy ï Lightness 

 (D) Profligate ï Extravagant 

Answer: (B) 
 

2. Given set A = {2, 3, 4, 5} and Set B = {11, 12, 13, 14, 15}, two numbers are randomly selected, 

one from each set. What is probability that the sum of the two numbers equals 16? 

 (A) 0.20 (B) 0.25 (C) 0.30 (D) 0.33 

Answer: (A) 
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3. Which of the following options is the closest in meaning to the sentence below? 

 She enjoyed herself immensely at the party. 

 (A) She had a terrible time at the party. 

 (B) She had a horrible time at the party. 

 (C) She had a terrific time at the party 

 (D) She had a terrifying time at the party 

Answer:  (C) 

 

4. Based on the given statements, select the most appropriate option to solve the given 

question. 

 If two floors in a certain building are 9 feet apart, how many steps are there in a set of 

stairs that extends from the first floor to the second floor of the building? 

 Statements: 

 (I) Each step is ¾ foot high. 

  (II)  Each step is 1 foot wide. 

 (A) Statement I alone is sufficient, but statement II alone is not sufficient. 

 (B) Statement II alone is sufficient, but statement I alone is not sufficient. 

 (C) Both statements together are sufficient, but neither statement alone is sufficient. 

 (D) Statement I and II together are not sufficient. 

Answer: (D) 

Exp: Though we know height of each step, and of strains is not mentioned. 
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 5. Didnôt you buy _________ when you went shopping? 

 (A) any paper (B) much paper (C) no paper (D) a few paper 

Answer: (A) 

 

Q. No. 6 ï 10 Carry Two Mark s Each 

 

6. The given statement is followed by some courses of action. Assuming the statement to be 

true, decide the correct option. 

 Statement: 

 There has been a significant drop in the water level in the lakes supplying water to the 

city. 

 Course of action: 

(I) The water supply authority should impose a partial cut in supply to tackle the 

situation. 

(II)  The government should appeal to all the residents through mass media for minimal  

use of water. 

(III)  The government should ban the water supply in lower areas. 

 (A) Statements I and II follow. 

 (B) Statements I and III follow 

 (C) Statements II and III follow. 

 (D) All statements follow. 

Answer:  (A) 

 

7. The number of students in a class who have answered correctly, wrongly, or not attempted 

each question in an exam, are listed in the table below. The marks for each question are 

also listed. There is no negative or partial marking. 

 

Q No Marks Answered 

Correctly 

Answered 

Wrongly 

Not 

Attempted 

1 2 21 17 6 

2 3 15 27 2 

3 1 11 29 4 

4 2 23 18 3 

5 5 31 12 1 

  

 What is the average of the marks obtained by the class in the examination? 

 (A) 2.290 (B) 2.970 (C) 6.795 (D) 8.795  

Answer: (B) 

Exp: 
21 2 15 3 11 11 1 23 2 31 5

2.970
21 15 11 23 31

³ + ³ + ³ ³ + ³ + ³
=

+ + + +
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8. The pie chart below has the breakup of the number of students from different departments 

in an engineering college for the year 2012. The proportion of male to female students in 

each department is 5:4. There are 40 males in Electrical Engineering. What is the 

difference between numbers of female students in the Civil department and the female 

students in the Mechanical department? 

 

 

 

 

  

 

 

 

 

 

 

 

 

 

Answer: 16 

Exp:  Electrical malestudents 40=   

 

4
Electrical Femalestudents 40 32

5

Total no.of Student 72.

% Female

20 32

30 48

Difference is16.

\ = ³ =

=
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9. Select the alternative meaning of the underlined part of the sentence. 

 The chain snatchers took to their heels when the police party arrived. 

 (A) took shelter in a thick jungle 

 (B) open indiscriminate fire 

 (C) took to flight 

 (D) unconditionally surrendered 

Answer: (C) 
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10. The probabilities that a student passes in Mathmatics, Physics and Chemistry are m,p, and 

c respectively. Of these subjects, the student has 75% chance of passing in at least one, a 

50% chance of passing in at least two and a 40% chance of passing in exactly two. 

Following relations are drawn in m, p, c: 

 (I) p + m + c = 27/20 

 (II)  p + m + c = 13/20 

 (III)   (p)³(m)³(c) = 1/10 

 (A) Only relation I is true 

 (B) Only relation II is true 

 (C) Relations II and III are true. 

 (D) Relations I and III are true. 

Answer: (A) 

Exp: P(atleast two) p(exat 2)
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-

= - =
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Electrical Engineering 

 

Q. No. 1 ï 25 Carry One Mark Each 

 

1. A moving average function is given by () ()
t

t T

1
y t u dt.

T -
= tñ  If the input u is a sinusoidal 

signal of frequency 
1

Hz,
2T

 then in steady state, the output y will lag u (in degree) by 

________. 

Answer: 90 

Exp: u(Ű) = sin (ɤŰ) 
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2. Consider a one-turn rectangular loop of wire place in a uniform magnetic field as shown 

in the figure. The plane of the loop is perpendicular to the field lines. The resistance of the 

loop is 0.4 ,W  and its inductance is negligible. The magnetic flux density (in Tesla) is a 

function of time, and is given by ()B t 0.25sin t,= w where 2 50w= p³ radian/second. 

The power absorbed (in Watt) by the loop from the magnetic field is __________. 

 

 

 

 

 

 

 

 

 

 

Answer: 0.192 

Exp: 
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3. If the sum of the diagonal elements of a 2 × 2 matrix is 6,-  then the maximum possible 

value of determinant of the matrix is ________. 

Answer: 9 

Exp: Sum of the diagonals elements is -6 for 2×2 matrix 

 The possible eigen value are 

 

1, 5 5, 1, 8,2

2, 3 4, 2 9,3

3, 1 3, 3 10,4

­ - - - - -

- - - - - -----

- - - - -

  

 Maximum possible value of determinant is -3×-3 = 9. 

10 cm

5 cm
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4. When the Wheatstone bridge shown is used to find value of resistance Rx, the 

Galvanometer G indicates zero current when 
1 2 3R 50 , R 65 & R 100 .= W = W = W If R3 is 

known with 5%°  tolerance on its nominal value of 100 ,W  what is range of Rx in ohms? 

 

 

 

 

 

 

 

 

 

 

 (A) [123.5, 136.5]   (B) [125.898, 134.12]     

 (C) [117, 143]   (D) [120.25, 139.75] 

Answer: (A) 

Exp: Weinbridge is balanced, R1, Rx = R2R3 

  50×Rx = 65×100 

  Rx = 130W 

  Now R3 = 100±100×0.05 = 100±5 = 95/105W 
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5. For the given circuit the Thevenin equivalent is to be determined. The Thevenin voltage, 

VTh (in volt), seen from terminal AB is _________. 

 

 

 

 

 

 

 

Answer: 3.36 

Exp: V th = 2i1 

 2 = 1[i+i1]+i = 2i+i1 

 i(1) = -20i + 2i1  

 Ḉ 21i = 2i1 
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6. The impulse response g(t) of a system, G, is as shown in Figure (a). What is the maximum 

value attained by the impulse response of two cascaded blocks of G as shown in Figure 

(b)? 

 

 

 

 

 

 

 

 (A) 
2

3
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  (C) 

4
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  (D) 1 

 

Answer: (D) 

Exp: Overall impulse response = g(f)*g(t) 

 h(f) = g(f)*g(f) 

 

 

 

 

 

 

 

 

 

 

7. Base load power plants are 

 P: wind farms. 

 Q: run-of-river plants. 

 R: nuclear power plants. 

 S: diesel power plants. 

 (A) P, Q and S only (B) P, R and S only (C) P, Q and R only (D) Q and R only 

Answer: (D) 
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8. Of the four characteristic given below, which are the major requirements for an 

instrumentation amplifier? 

 P: High common mode rejection ratio 

 Q: High input impedance 

 R: High linearity 

 S: High output impedance 

 (A) P, Q and R only (B) P and R only (C) P, Q and S only (D) Q, R and S only 

Answer: (A) 

Exp: Additional characteristics include very low DC offset, low drift, low noise, very high 

open-loop gain, very high common-mode rejection ratio, and very high input impedances. 

Instrumentation amplifiers are used where great accuracy and stability of the circuit both 

short and long-term are required. 

 

9. A random variable X has probability density function f(x) as given below: 

 ()
a bx for 0 x 1

f x
0 otherwise

+ < <ë
=ì
í

  

 If the expected value []E X 2 3,=  then [ ]Pr X 0.5<  is __________. 

Answer: 0.25 

Exp:  

  

   

 

 

 

 


